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1. Choose the correct answer : 1x10=10

(a) Which one of the following is not a basic
objective of Human Resource Management ?

(i) Maximum individual development
(ii) Optimum use of financial resources
(iii) Desirable working relationship

(iv) Effective moulding of human resource,

[Turn over



(bj Which one is a .quality. of a successful

interviewer ? .

(i) He should be an elderly person ‘
(ii) He must have a through understandmg

of the organisation

(iii) He should be fully trained in the art of

interview

(iv) All the above. h

(c) The six sigma concept was populansed
during 1990s by .

@) International Businés's' Mﬁchine (IBM) |.
(ii) Indian Tobacco Company (ITC) |
(iif) General Motors (GM) '

(iv) General Electric Company (GEC)

(d) The factor ‘compatisoﬂ method was’ first]

developed by
@) EEL Breach
(ii) Elton Mayo
(iii) E. . Benge -

(iv) None ‘of the above
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(e) Placemerit occures afte

-

(®

(i) Recrultment
(ii) Selection
(iii) Orientation

(iv) Wage determinatior

Which one of the fi
monetary incentive, ? ...
() Leave encashment
(ii) Attendance Bonus .
(iii) Gratuity scheme
(iv) Better working con
In the context of HRM,
implies :

(i) lowering down the
(ii) elimnmﬁon_'éf'certa
(iif) cutting ‘the size of

(iv) All the. above
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(h) Which among the following is not
technique of Job Analysis ?

(i) Questionnaire

(ii) Job performance I

(iii) Training

(iv) Interview

(i) What level of défects are’ acceptable under
the Six Sigma process ? . :

(i) .019 defects per million:
(i) 3.4 defects per million, -
(iii) 233 defects- per million

(iv) 6,210 defects per million

() Which one of the following is
advantages of Virtual Organisation ?

(i) It is more flexible

(ii) Interpersonal Contract is the basis of
such organisation

[

(iii) It facilitates indirect and informal com-

munication

(iv) It is extremely useful to overcome time

and space constraints,
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2. Write very short answer |

to any five questions :

(i) Write two demerits o
resources.

(ii) What is repatriation
(iii) What is work force
(iv) Explain the term fri
(v_) What is Job Evalua

(vi) Write two differences
Training Programme.

(vii)Explain the conce]

Management.”

Write short answer on an
(within 150 words each)
(i) Explain any five ¢

Human Resource M:

(ii) Discuss five chara
Human Resource Po

(iii) Discuss the various s
selection process.

(iv) Discuss the point sy
with its merits and
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(v) ‘What is exit interview and how it is to be | 7. Write briefly an any twi
conducted ? o S

(vi) Give the meaning of recruitment and- show (D Basic steps in inten
its distinction with feiectlon. (i) Outsourcing of HR}

4. Explain the important factors that are responsible (iii) Structured Interview
for the growth of Human Resource Management. view
: 10 ) '
Or , (iv) Techniques or proce

Discuss the role played by the HR manager in
managing various activities in his -department. |
S 10

5. What are the internal sources of recruitment ? !
* Why do organisations prefer internal sources of '

reqn_litmcnt. 5+5=10 |
. Or -

Explain the various tests used by the employer

for the selection of employees. 10 °

6. Describe the time wage and piece wage system |
- of wage payment with their.merits and demerits.
: " 10
Or ,
What is incentive plans ? Explain their benefits
to the workers and the producers, 2-+4-+4=10
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